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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 4.44 55.39 | Ths | 000 ~ 444 1.94 9.82 ZznLst 1.00 | 5.00 ~ 5.00 55.39 | =L | 5,00 ~ 5.00 )| 1.94 9.82
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 | 0.00 ~ 6.44 81.13 | #hst | 000 ~ 644|200 10.13 znLst 1.00 | 5.00 ~ 8.70 81.13 | #ns | 5,00 ~ 870|200 10.13
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 687 86.93 | Thst | 0oo ~ 687|185 9.33 znLst 1.00 | 5.00 ~ 8.60 86.93 | =S | 5,00 ~ 860 | 1.85 9.33
4 100kN/M%Z#B % % — -~ = —|3mZE#EZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 6.57 82.81 | =hst | 0oo ~ 657|193 9.74 znLs 1.00 | 5.00 ~ 8.40 82.81 | #ns | 5,00 ~ 840|193 9.74
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 6.56 82.73 | #hst | 000 ~ 656|187 9.46 znLst 1.00 | 5.00 ~ 8.10 82.73 | =S | 5,00 ~ 810 1.87 9.46
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 4.44 55.35 | Ths | 000 ~ 444|194 9.82 ZznLst 1.00 | 5.00 ~ 5.00 55.85 | =LA | 5,00 ~ 5.00 )| 1.94 9.82
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHEAD ~ 100kN/mM%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHEZD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh s ~ ZnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ 3ImEHEZD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
ZhUs ~ ZhLst ~ ZhUs ~ ZhnLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh LS ~ ZhnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ 3ImEHAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
ZhUs ~ ZhnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
ZhLs ~ ZhnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ 3ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
zhLst ~ s ~ zhLst ~ s ~
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